[ Efficiency vs vertpos |
~0.05

YT SO I S S—
2 : : :

20,04 |- fsifeseeeeees e e
Q .
B.035F |- {il-

...................................

S + 1] 5 5

SO0 .

0.025 -+ {-tHf-{- e o

0.02k--H{FHFH A Feeeeeeeeen e
-+ . .

0.015F4: 4+ T-JiH {4 b e
0.028---}-{H- - L R
0.005 i :

1.9

Ratio

||}-||

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_beforePR

Efficienq —— pom_afterPr

~0.05 ; ; ; ; ;
T SRS N S SN SRS S
. : : : : :
L R e i
> : : : : :
D.035F -+ -reee{ i
‘O . . . .
E0.03F ook fddn
o : : : :
0.025F-+e-beegerienens
0.02F -+ h#
N RS
(00| EPPERR SRR B SRR B -
0.005f----------{-Kp oo Beoeeee
2.0

Ratio

[y
T

30 -20 -10 0 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~ 0.1
>
0.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

0.0

o =15 =10 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


